
D: R1-45-5446 

Write doen he causifiedion Nombett 6yoem kem 

Ans 

Nunbert 

Reo Numbert Compex Namber 

Reaionad Truational| Pucely Timg Parely Ra 

Tteer Fraction 

Properr AmproperT Mixesd 
Negochve zerto osTtive/ NaJura Murber 

Conposite 
Pteime Nerther pPrume ot 

aneComposite



mee 3Find he Prume faetorcizalon 540 uira 

Ans 

The prcime faetorcizafion 540 usirg the. tree m�thod: The 

540 

270 

435 

45 

5 

Thereone, TePrime factrizetin 540 is =zx?xs 

P-to 



Find at he all foctorcs 540 

Amb. 
Caleuloton er a focbts; 

540 4 x 540 

= X 70 

= 3x 48o 

= 4 x 435 

= 5X A08 

= 6 x990 
9 X 60 

40 X 54 

= 12 X 45 

=15x 36 

= 48 x 30 

= 20 x 27 

9 

The fae tors o54 
are: 1, ?, 3, 4, 5, 6n10, 12, 15, 48, 2o, 27, 

Tbe fae tors 
30, 36, 45, 54, 60, 90 108, 135 

180 270, 540 



whot ishe Gr.cD&LCM 240 540 

Ans 
iven numbend ate 240 & 540o 

40 = 2x 420 
= 2x 2x 60 

= x2 X 2x 20 
2x 2x 2x2 X15 

2x 2x 2x 2Xx 3X5 

= x 3 x5 

540 X AZ0 

X 2x 13b 

x Rx 3 X 45 

x x 3x 3 x A5 

RXx3 3 X 3x5 

LCM of(240 & 540o) 2'x x 5 260 

GtCD (240& 540 x3 x5 = = 6o 



Find the H.CF &LcM o42, 63 4e 140 

Ans, 

aiven norberny ane 4, 68 4o 

42 =X 3X 

63= 3 x 3 x 7 

140 x x 5X 

L-CpAo (92, 63 huo) = x x5X7 

z 1260 

F (2, 63 4 14o) = 7 

1 & 
HeF L¢M 

81 

Find the 

Ans 
Cakuation kore Numetrotot 

o ort Denominatort. 
Caleulation 

3 34 

46- 21
81 34 

1o 2x 5 
33 

.LCM = 21 x5 = 80 L CM =34 81 

C 3 



LeM 8,16,10 
.LeM ( 49) 

HGF o 3.9% 31,27 

Her ( 8 ) Z 
HeF 

.9,83. 
8,16. 

27 
10o 

Lem 
3,9.81, 37 

Find he modulu and Arqumento z-4t 

oleo ts polart expon entiay foon. 

Z 
and 

1+3i 

1-T3i 

(a+at)(1+ 3) 
(450(a Bi) 

1+3i+Bi + 3t2 

4+2i +(3-1) 

-3 -1) 

A 



Arg (), e - T- o - t-Te 

7 

Ttom z = t (cos+ isine) 

1 (co+ i sin ) 
=Cos 2+i 6in (A A 

Exponentiel frem o 7 = Pe" 

=1e 

6xd4 /6 
-4 

we have 

A6x 4t 

4i x 2i 

82 

=-8 2 



Evalute Maduhs & Agument &z-2 by Kopheing -2i 

Ans 

we ove, 

87-7 8(2+i) -(2+) 
= 16 +8i - (4+4i+2) 

46 +8-4-4i +1 

13 +i 

Modukes = 6+(40 

=149+16 

J425 

Argumeat 6- tan 13 

11 



40 

Lt 

6- 

Mawus of z-\f+ 

',P 2 

Argamet z. a' 1k 
N 

ta 

here fore(cos6 +ioine)otom 1 = =2 (eo% + isn%) 
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